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1.Which of the following best describes a peer-to-peer network?
(A)It decentralizes the resources on a network.
(B)It centralizes the resources on a network.
(C)lt uses file servers.
(D)It uses the client/server model.

2.The Internet is an example of a
(A)circuit switched network
(B)packet switched network
(C)cell switched network
(D)frame relay network

3.What is the output of the following C program?
#include <stdio.h>
void main()
{
intn;
int arr[3][3]={1, 2, 3,4, 5,6, 7,8, 9};
for (n=0; n<3; n++)
printf("%d", arr[n][2-n]);

}
(A)159 (B)357 (C)258 (D)456
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4.The User Datagram Protocol (UDP) is an example of a
(A)connection-less network layer protocol
(B)connection-oriented network layer protocol
(C)connection-less transport layer protocol
(D)connection-oriented transport layer protocol

5.The scheduler creates a process from a job and changes
a process back to a job.
(A)job (B)virtual (C)queue (D)process
6.According to the following recursive definition,F(5)="?
0, ifn=0
F(n) = 1, ifn=1
Fn—1)+F(n—-2)ifn>1
(A)3 (B)5 (C)8 (D)13

7.How is DSL able to carry telephone and data signals at the same
time?
(A)Each signal uses a different frequency.
(B)Each connection is dialed separately.
(C)DSL uses low frequency transmissions.
(D)DSL uses digital signals to carry both the telephone and data
traffic.

8.A computer can access devices on the same network but cannot
access devices on other networks. What is the probable cause of
this problem?

(A)The cable is not connected properly to the NIC.
(B)The computer has an invalid IP address.

(C)The computer has an incorrect subnet mask.

(D)The computer has an invalid default gateway address.
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(A)Access (B)PowerPoint

(C)FrontPage (D)Excel
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24 What the values of output when you attempt to compile and run
the following Java code?

public class Precedence {
public static void main(String args []) {

intx=2,y=05;
inta=x/y - 6/4,
System.out.print(*a="+a);} }
(A)a=-1 (B)a=-1.5 (Ca=-2 (D)a=2
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(= )What sequence of values will be printed when the following
Instructions are executed?

X € 1;
if (X > 1) then (print the value 9;
Y <&2)
else (print the value 3;
Y & 6)

if (Y <3)then (Y <4;
print the value of Y)
else (print the value of Y)
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